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QUESTION 1

You are asked to troubleshoot the new IBGP peering session shown in the exhibit between R1 and R2. Which action
will resolve the problem? 

A. Configure the multihop option. 

B. Configure the accept-remote-nexthop option. 

C. Change the allowed peer range to 10.222.1.0/24. 

D. Change the allowed peer range to 172.22.0.0/24. 

Correct Answer: C 

 

QUESTION 2

The exhibit shows part of the configuration for a router. You receive a complaint that the router is not correctly
reclassifying all traffic to the best-effort forwarding class when the amount of IPv4 traffic exceeds 10 Mbps. 
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You have isolated the problem to traffic with the IP precedence bits set to the binary value 101. Which configuration is
causing this behavior? 

A. the filter firewall filter\\'s term 1 

B. the filter firewall filter\\'s term 2 

C. the ip_classifier_1 classifier 

D. the policer1 policer 

Correct Answer: A 

 

QUESTION 3

You are monitoring a network that is configured with PIM sparse mode. An end user\\'s PC (PC1) joins a multicast
stream. The stream never switches from the rendezvous-point tree (RPT) to the shortest-path tree (SPT). 

Which two statements explain this behavior? (Choose two.) 

A. An interface on the SPT is not configured for PIM. 

B. The designated router for PCI\\'s LAN does not have a route to the multicast source. 

C. This is the normal operation of PIM sparse mode. 

D. This is a source-specific multicast (SSM) stream. 
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Correct Answer: AB 

 

QUESTION 4

-- Exhibit -user@switch>show dot1x interface ge-0/0/1 detail ge-0/0/1.0 Role: Authenticator Administrative state: Auto
Supplicant mode: Multiple Number of retries: 3 Quiet perioD. 60 seconds Transmit perioD. 30 seconds Mac Radius:
Enabled Mac Radius Restrict: Enabled Reauthentication: Disabled Configured Reauthentication interval: 3600 seconds
Supplicant timeout: 30 seconds Server timeout: 30 seconds Maximum EAPOL requests: 2 Guest VLAN member:
Number of connected supplicants: 0 -- Exhibit -

Click the Exhibit button. 

You are asked to troubleshoot an access control issue on your EX Series switch. The user connecting through port
ge-0/0/1 indicates that their 802.1X supplicant is failing authentication and they are not able to connect to the network. 

Referring to the exhibit, what is causing the 802.1X supplicant to fail? 

A. The supplicant mode is defined as multiple. 

B. The MAC restrict option is configured. 

C. The supplicant timeout value is set too low. 

D. The reauthentication interval is set too high. 

Correct Answer: B 

 

QUESTION 5

-- Exhibit 
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-- Exhibit -Click the Exhibit button. Your network has two connections to your ISP. You have been asked to load-balance
traffic across both 

links that connect to your ISP. You have enabled multipath for this peer, but you are still not getting the 

expected load balancing. 

Given the information shown in the exhibit, what else must you do? 

A. Configure and apply a load-balancing policy. 

B. Change the multipath parameter to multihop. 

C. Create a policy to manually change the next hops. 

D. Enable the keep all parameter. 

Correct Answer: A 
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